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Plot [’ ECopt’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.00 + @ @ @ @ @ @ @ @
6. 95
6. 90
6. 85
6. 80
PHO Warning: col ['FVOPH' ] is missing
6. 75 1
2 4 6 8 10 12 14




Trend plot forG3-1_0
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G3-1

BfiE) | GEBEETIC (FD) | EBM=E (EAH/K) | XK R

06:40 68 40.0 (Z=| 1BiB006:40 Bzh (REERE)
07:20 68 40.0 | =| 1Ri%e07:20 Bz (kAEREE)
08:00 68 40.0 E|  {Rig@08:00 Bah (RE{ERSE)
08:55 68 40.0 E|  {Ri&e08:55 Bah (RF{ERLEE)
09:50 68 40.0 | =| 1Ri%e09:50 B (kAHEREE)
10:35 68 40.0 (Z=| 1BRi%e10:35 Bzh (REERESE)
11:15 68 40.0 (2=| Bige11:15 Bzh (REERSE)
12:00 68 40.0 | =| 1Ri%e12:00 B (kAFEREEE)
12:45 68 40.0 (Z=| 1Bige12:45 Bzh (REERESE)
13:25 68 40.0 PH| {Ri%e13:25 Bl (RAERESE)
14:00 68 40.0 FR| {Ri%@14:00 Bz (GRAHEEEE)
14:40 68 40.0 FA| {Ri%e14:40 Bzh (GRAERESE)
15:15 68 40.0 (Z=| 1Bige15:15 Bzh (REERESE)
15:50 68 40.0 [&=| {Ri&e15:50 B (REAHERESE)
16:35 68 40.0 (Z=| 1BRige16:35 Bzh (REERESE)
21t+]1020.0 (15)%) 600. 0 3 WHKEC: 2000.0, PH: 6.0

EORGERIREL RN (0.61 vs 0.68), AIREE S REES EEEESKERE
BRI\ SEPRERT41.0 ml.

BEREBIPH (10.33) 5i%7EPH (6.0) RERK, 1HRE

BEXRERIPH (10.33) 5FMPH (6.5) REK K, HRE

HEEIRECE (1992. 0 vs 3742.0) 03

EURGEEIPH (10.2) 58 FEE (6.0) REK K, BT,

LORGEBIPH (10.2) S5HRBIEWN (6.0) REK K, BRE.



G3-1_0, Day=15 (2025-05-27)
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G3-1

BYE) | GEBERTIC (B)) | EME (EAH/#K) | XS R

06:35 68 40.0 | 1Ri&e06:35 Bz (KRFAERHS)
07:30 68 40.0 5| {Ri&e07:30 Bah (KRAHEHS)
08:25 68 40.0 5| 1Ri&e08:25 Bz (KREAEESE)
09:30 68 40.0 | 1Ri&e09:30 Bz (KREAEES)
10:20 68 40.0 |Z=| 1Ri%@10:20 B (kAHEREEE)
11:10 68 40.0 5| Rige11:10 Bz (REAERES)
12:00 68 40.0 | 1Rike12:00 B (KAL)
12:50 68 40.0 5| 1RiRe12:50 B (REAEES)
13:40 68 40.0 5| 1Ri%e13:40 B (REMERE)
14:30 68 40.0 | 1Ri&e14:30 B (REERS)
15:45 68 40.0 5| {Ri%e15:45 B (REAERSE)
23t 748.0 (113%) 440. 0 328053 KEC: 2000.0, PH: 6.0

REFREERIPH (10.37) 5iEPH (6.0) REK K, HHRE
REXEBIPH (10.37) 5FMPH (6.5) REKRK, BT
1 [E3KECZE (2003.0 vs 3745.0) i3

LEORGEBIPH (10.1) 5i&EE (6.0) wERKK, BRE.
LORGEBIPH (10.1) S5REEN (6.0) RERK, HRE.



G3-1_0, Day=14 (2025-05-26)
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G3-1

BfiE) | GEBIETK (D) | EHE (EH/ER) | XK B

06:20 65 40.0 F[ BRi%e06:20 Bah (RAEREE)
07:00 65 40.0 | {Ri%@07:00 B (RAATREEE)
07:40 65 40.0 5| 1Ri%e07:40 B (REMERE)
08:20 65 40.0 = RRi8008:20 BHzh (RAEESE)
09:20 65 40.0 =] {Ri%009:20 B (REAERESE)
10:10 65 40.0 E BRige10:10 Bz (GRAERESE)
10:55 65 40.0 =l {Ri%@10:55 B3 (RAERSE)
11:35 65 40.0 = Rige11:35 Bzh (GRAEES)
12:25 65 40.0 E BRige12:25 Bz (GRAERESE)
13:10 65 40.0 S {Ri%e13:10 Bz (GRAERSE)
13:45 65 40.0 = RRiB013:45 B (RFAEESE)
14:25 65 40.0 E BRige14:25 Bz (GRAERESE)
15:05 65 40.0 5| {Rige15:05 Bzl (REERESE)
15:45 65 40.0 = RRiB015:45 B (RFEAEESE)
16:35 65 40.0 = {RRiB016:35 Bz (REAKEE)
=3t]975.0 (15%) 600. 0 3203 %EC: 2000.0, PH: 6.0

LOREBURIR EEFRT )N (0.61 vs 0.68), FAIEEEZ AREREBEEIKESRRE
ZRIASEPREBRE40. 0 ml.

large discrepency for begining water status (99:267.0), set to 99 ml.
REXEBIPH (10.27) H5i&EPH (6.0) REKR KA, HRE

REXJEBIPH (10.27) 5FMPH (6.5) RERK, ERE

PE[EIRECE (1885. 0 vs 3288.0)53 5

EXGEBIPH (10.3) 5i&EE (6.0) REKK, BRE.

ERGEBIPH (10.3) S5iREEY (6.0) REK K, BHRE.
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G3-1_0, Day=13 (2025-05-25)
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